-
(=)

-
o

-
o

-
o

-
o

7

=)

L9

s

Seg3 RNA | 2 hpi
[ 4 hpi

oo Seg4 RNA [ 2 hpi

800—- - 4 hpl

Counts

N U T U
4000 6000 8000 10000 0 2000 4000 6000 8000 10000

o Integrated signal intensity (a.u.)

Pearson’s Correlation Coefficient

0 2000
Intensity Intensity
5 S5
Seg3 RNA s 7 Seg4 RNA & 7~ NSPS5-EGFP
> >
. D D
o S 10° S 100
. = £
T 10°] T 107
2 2
o 10%] 5 10°
: — : §>103 I S - : §)1§
2 hpi 4 hpi 6 hpi I= 2 hpi 4 hpi 6 hpi I=
d
10 2 hp.i. 4 hp.i. 6 hp.i. 5x107q - Seg4
' B , EGFP
0.8 g 4x10°-
X .
0.6 g 3x107+
2
0.4 3 2x107-
2
0.2+ = 1x107-
0.0 0 -

Se0s =

S@gq — :5:

1 1 1 1
0 1%107 2x107 3x107 4x107
Intensity per pixel/Seg3



	Page 1

